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Foundations of Algebra Unit 5: Linear Functions Notes

Day 9 — Writing Equations of Lines

Explore: For each of the following problems, write the equation of the line using the given parameters (slope

and a point on the ling). % m >< ,(, b
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Foundations of Algebra Unit 5: Linear Functions Notes

Writing Equations of Lines Given Slope & a Point

So farin Unit 5, you have been able to determine the y-intercept from either a graph or an equation in slope
intercept form. How will you find the y-intercept or equation of aline without a graph or equation? You can
use the slope intercept form to find the y-intercept or equation of aline if you know the slope and a point on

the line.

Writing Equations Using Slope Intercept Form
y=mx+b

Writing Equations Using Point Slope Form
(y -y1) =m(x-x)

1. Write the formula
Yy =mx+ b.

2. Substitute the value of
the slope in for m and the
value of the point in forx
and y.

3. Solve the equation for
b.

4. Substitute the value of
m and the newly
founded b into

vy =mx+ b.

1. Write the formula
(y—vy1) =mx-x).

2. Substitute the value of
the slope in for m and the
value of the point in for x;
and y1.

3. Solve the equation for
Y

Ex 1: Write the equation of a line with a slope o@nd y-intercept o@
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Ex 2: Write the equation of aline if
= m>< —+

2) ¥ b %=H
RERL 3l

Tox+2 T

@ pc:;ses Jrhrough[rhe pomT {2 1
- - m X X|

TOn-2D _
41; 9 =7

aAx -1

-7= b
9 =A% =7
Ex 3§Nr{re the equoi_gn of CI ||nT:>\A{|Jr_
= mx +b
)+b %

Ex 4 WF%rhe tqua&o(wgf a ||nefmgh,rnq %c\i@

gﬁ Lr@

TpTy

g:%X‘B

gqu—7

e ,extc\:l g)gses through the point (3, 12).

M x+b g

-3
_ VG & T
| 2. €><+3(¢
%’ (ﬂ (Equohon \/I

'n%T@)ugh the poinf(2,5).

Equation: U‘
X Y

36

+ a
%‘&

Equation:_

26




	Page 1
	Page 2

